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M NHXEH L
Hu: AmEgs MXWE 2
Sl BAE BIAMHIA XS CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OJIg2 g288) g2 2,000,000& 2,000
202 04| 500 700 A 200
01 2LHOHI 500 700 A 200
O2MAS 500,000& 500
308 AXISHXSOoIH 83,086 80,127 2,959
11 SIS USHE AR E A 83,086 80,127 2,959
ORHEIDOIAIAE Sl 22ld] 5,500,000& 5,500
OEZFJIES&2AAEY S22l
40,392,000 40,392
O2LetAl A e Xl 22|yl 37,194,000 37,194
403 XtXISHH S K201 673,610 0 673,610
02 SISO SHA =52 e A I 673,610 0 673,610
o2ue 2M2.0 88 25 488,330,000& 488,330
OE=JIs2e &4 A 185,280,000 185,280
H AP0 22| 149,359 143,547 5,812
201 LEt29Y| 142,359 143,247 /\ 888
01 AFR2t2l bl 141,359 142,247 /\ 888
Ogxag 94,020
- & 60,0003 x4H 118 28,320
-= 60,0003 *3H x365 65,700
Ogaa 29| 10, 160
A8 S ME= 80,000& x52= 4,160
-JIEt 2l 6,000,000 6,000
OHIAHFE TEH (Ex=E,012)
300,000 x7H 2,100
O&=J gtz 70,000& =12& 840
O3J1&83d8)] Lx &z 50,000 *7CHx12& 4,200
obld ¢xtz 23,900& x12& 287
OFAMNRBAUABHAAY S92 3
1,310,000& x12& 15,720
ORIZoR AMES Ay 292
165,000& = 12& 1,980
OCCTVAIA & slE & 1,004,300& x12& 12,052
02 35244l 1,000 1,000 0
OFMEQ KX 1,000,000& 1,000
405 XH&HF SHI 7,000 300 6,700
01 AL =2 EF SHI 7,000 300 6,700
OQHQOIAD] 22AH 2 7,000,000 7,000
SR =SR2 500 1,400 A 900
202 04| 500 1,400 A 900
01 2LHOHI 500 1,400 A 900




M NHXEH L
Hu: AmEgs MXWE 2
el BAE BIAMHA X (el @2)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
| | OE2XE 2 EHg2F7 500,000& 500
XNEoty 2 ofEzel 1,329,778 465,004 864,774
& 14,639
Al 1,315,139
=3 2 JEY #HAKA 81,720 71,880 9,840
201 et A | 56,440 47,600 8,840
01 AFR2t2l Yl 42,940 39, 100 3,840
OEZH JIZJ] A 22| 20,000,000& 20,000
OEH=D1, AlDI, Sigt(0] ¢
6,000& *2,000H 12,000
OH=7 Mg 2 22HAHA =2
1,200 +1,65001 *33] 5,940
OH=2J] 22838 #¢ 3,500,000 3,500
OAMglel & AMANRRAG EFA+Z 1,500,000 1,500
03 HAFS S HI 13,500 8,500 5,000
OASRA AL 1,000,000& 1,000
OAQI2 & AFTH 500, 000& =54 2,500
OAgIel < I8 4 10,000, 000& 10,000
202 (4] 3,780 3,780 0
01 2L Y] 3,780 3,780 0
(@JSIPSES- 3,780,000& 3,780
203 ¥R =&XH| 18,000 18,000 0
03 AIHZ=XH R =X Y| 18,000 18,000 0
OFQ#AFZA 18,000,000& 18,000
301 dBEtEX = 3,500 2,500 1,000
09 HALAHI X &2 3,500 2,500 1,000
O3.1&8 & =X #HAIEIA 24 500,000 500
OJNEA (MDA, AlRISlL) SAKI2
3,000,000 3,000
NSorty &2 114,900 112,800 2,100
201 Bt A | 22,400 19,400 3,000
01 AFR2 22l Yl 19,400 19,400 0
ONBLERS 32 & HZE 200,000&*5Y 1,000
OEFE M 40,000& #3004 12,000
OHUWAIY FH S HE 150,000& *11H 1,650
OANMALRFE S22 ME 3,000,000 3,000
OsSFdALATX E2 HEH 1,750,000& 13| 1,750
02 =329l 3,000 0 3,000
OYSBHEANLIRHAG2LS
3,000,000& 3,000
202 0db] 500 1,400 A 900




R PPN = RSy
Hu: AmEgs MXWE 2
Sl Xty U oE e CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 500 1,400 A 900
O=sgeds NFA2Y g2=2 500,000& 500
203 YR =2t 92,000 92,000 0
03 Al =AY R =& 92,000 92,000 0
OAIZ & ARSI &3 =8 20,000,000& 20,000
OXgotas =& 16,000, 000& 16,000
Ostol & = 8,000,000 8,000
OXYGZdN & NEIstx=a 11,000, 000& 11,000
Oz==2U s A2 28,000,000 28,000
OHF=XNHEH =3 AIE &3
500,000 =8 = 4,000
OA2IESIEe & 3R o2 5,000,000 5,000
FOHE € Ndaaatel 12,500 13,470 A970
202 O4dl 500 1,470 A970
01 = LH 4 Hi 500 1,470 A970
OFQ0E ¥ NFaeae 500,000& 500
203 YR =2l 12,000 12,000 0
03 A Z=XH S =AY 12,000 12,000 0
OFQAIBAY FRIHE =& 12,000,000& 12,000
EYs AHAMR 2 919,701 109, 174 810,527
308 XX EHH SOl A 919,701 109,174 810,527
12J|EtRE=3 919,701 109, 174 810,527
OHMB8al M= AXL&H el 919,701
-=Hl & AAIZH 350,026,000 350,026
-3 2 AS3FH 42,675,000 42,675
-EHdHE 527,000,000& 527,000
Hgsl M2 SAIXNLEEA SHME X 30,717 0 30,717
< 10,239
Al 20,478
101 124 dl 3,205 0 3,205
< 1,069
Al 2,136
04 JI2ZtHZ22HEE =+ 3,205 0 3,205
OgERY 80, 110R x1H+5U+8I = 3,205
< 1,069
Al 2,136
201 Let249] 20,512 0 20,512
< 6,837
Al 13,675
01 At 22l 18,839 0 18,839
Oget==EH| 18,839,000 18,839
< 6,280




AN XX HE D
Hu: AmEgs MXWE 2
el ANty & HE 2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 12,559
02 =224l 1,673 0 1,673
ORER= 1,673,000 1,673
< 557
Al 1,116
202 odl 2,400 0 2,400
< 800
Al 1,600
01 = LH 4 1l 2,400 0 2,400
OEAHAR =LA 2,400,000 2,400
= 800
Al 1,600
203 YR =&l 4,600 0 4,600
< 1,533
Al 3,067
03 A Z=XH R =X H| 4,600 0 4,600
OEAHASR 2= 4,600,000& 4,600
< 1,533
Al 3,067
QlxEsLE3 2 K 39,100 39,100 0
307 glz2tol & 39,100 39,100 0
02 HAFHAANFEE 31,600 31,600 0
Otl=dstsgd N2 AIHXIE
10,700, 000& 10,700
Of=8slsy A&2ds A2AF A==X&
20,900, 000& 20,900
03 PITTHYES A 2T 7,500 7,500 0
OUxEEUN23 2AN
1,500, 000& *53| 7,500
Ol=3l2s 2SN MEXJz K 2,400 0 2,400
< 2,400
301 LPEXZ 2,400 0 2,400
< 2,400
12 JIEtE4 3 2,400 0 2,400
Oblxses 28l MaExd XH
2,400,000& 2,400
= 2,400
AELH X2 114,240 115,080 A 840
301 LEXZ 106,040 115,080 A9,040
04 HtSLHUHAH XA 106,040 110,080 A 4,040
Ogddiiz=a29H| 120,000& x 120 CH x 12& 17,280
O HoFAl HI 2,000 «5% 124 CH 365 43,800
O=4 dlle3 150,000 8 CH x12& 14,400
OfR&IIXN= £X & Hyl 1,800,000 1,800
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AN XX HE D
I AR O

(=R B -
o

o o
o DO
©@el 3%

2 o225 X8 (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O3RN U=H 90,000,000& 90,000
OZLARS2Y (DY, #42 )Yl
3,000,000& 3,000
202 oddl 165,000 165,000 0
05 22 WA 165,000 165,000 0
(@FME=J0:}=] 165,000, 000& 165,000
308 XXl EHH SOl A 15,004 19,727 AN4,723
07 XXM 2ARE = 15,004 19,727 AN4,723
O3&X e-2ld W=H 23 15,004,000 15,004
=322 Z2d K& 120,000 220,000 A 100,000
201 LB-2d | 20,000 20,000 0
01 At 2t 2l 20,000 20,000 0
OZYE - HuESA 25 Y S
20,000,000& 20,000
303 Z& =3 100,000 200,000 A100,000
01 Z& 3 100,000 200,000 A 100,000
OFII2s B22F A= 4,000,000 »25H 100,000
UM 2H 157,593 150,848 6,745
301 LEEAS 157,593 150,848 6,745
12 JIEtE4 3 157,593 150,848 6,745
ORgisH=2d 157,593
== 54,9603 *50H 21 *23] 115,416
=54 54,9603 *50H x4 23| 21,984
—-AlH| 8,000 *50F 21 +23| 16,800
-uE2E 154,200, 0002 * 1% 1,542
“MTHEE 154,200,000& *1.2% 1,851
SHEX A 2,490,532 2,239,960 250,572
SM=R X 798,232 314,660 483,572
201 Let24d] 712,100 210,950 501,150
01 At 2teltl 383,200 186,200 197,000
OXE=s33s sXA 20,000,000& 20,000
OFgAn2Za XA 400, 0003 *540YH 216,000
Ogute Hogsg s A& 1,000,000& 1,000
OXFSAHA Ot Xt 2 XtZ 100,000 ~12& 1,200
O&A dlag XA 10,000, 000& 10,000
OZA FLAE 018 XA 135,000, 000& 135,000
02 22224l 328,900 24,750 304,150
OHHMEZEd 280,000,000 280,000
OZ3fd HUBEE 13,000& 750 9,750
ougasX& 39,150,000 39,150




AN XX HE D
Hu: AmEgs MXWE 2
Sel: sM=X S CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
202 Od4dl 500 1,710 A1,210
01 = LHA YI 500 1,710 A 1,210
O=d=X g2=2 500,000& 500
303 Z& 3 85,632 102,000 A 16,368
01 243 85,632 102,000 A 16,368
OXENe0E AEEs= K&
7,136,000& x12& 85,632
SR 8" ZXXA 1,124,500 1,318,500 A 194,000
201 LBt2E | 1,124,500 1,318,500 A 194,000
04 XEEENM A S Z 1,124,500 1,113,000 11,500
OHER=RZNE 29 1,124,500, 000& 1,124,500
SR ofeld=> X 210,000 210,000 0
202 oddl 210,000 210,000 0
03 =A LRI 30,000 30,000 0
OZB232A=E 30,000,000& 30,000
04 =Xl =0 Hl 180,000 180,000 0
OZSF=2A&E 100,000, 000& 100,000
Odilel d&Atell M& XN 2,000,000& *40H 80,000
MEERS XS 105,000 90,000 15,000
307 21201 A 105,000 90,000 15,000
07 A3XN=23 105,000 90,000 15,000
OMZERS 3,500,000 x30H 105,000
=210 232 X& 400 400 0
309 ME2 400 400 0
02 SRAAI 2 SHILEEZ 400 400 0
O=1UHH=EES 400,000& 400
HaU=s SR H= 217,400 271,400 254,000
201 L2l 217,400 271,400 A54,000
01 At 22l 217,400 271,400 254,000
OZXJ CHI8 OMs8 o= 240,000& 900 216,000
OHMSHA AN E&xg 200,000& »7H 1,400
SR H=sgs N& 35,000 35,000 0
201 £B-2dH| 25,400 25,400 0
01 At 22l 25,400 25,400 0
OZXAMI =2 MU= (160H)
24,000,000 24,000
OAlZ HJZE MsUa(7E) 1,400,000 1,400
202 oddl 9,600 9,600 0




2AM: XA D
Hu: AmEgs MXWE 2
oelr 2M=T S CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 2L I 9,600 9,600 0
OEXAI 22 MU
30,0002 «160YH 2 9,600
FOIAXIAE HF2A 291,444 291,159 285
= 98,472
Al 192,972
MX/E e € XX HH ASXR 31,500 26,880 4,620
201 et | 2,000 2,000 0
01 A2t 2| H| 2,000 2,000 0
OXHAXNS(FANHE &It 5) 2,000,000& 2,000
202 o4l 500 880 A 380
01 2Ll 500 880 A 380
094 FOANIME 28 S P2xx
500,000& 500
301 et A= 17,000 12,000 5,000
09 SHAIAHI X & 2 5,000 0 5,000
OZFQINXSIY D4 FOARNIME 218
5,000,000& 5,000
12 JIEtE2 A= 12,000 12,000 0]
OFQIXNHMEH Stz 03 HARs & =0l
XXICHE &I 12,000,000 12,000
307 2iz2tol A 12,000 12,000 0
12 QI2+OI 2| & 1 = H] 12,000 12,000 0
OHMI58l =0l XtXl O3+ 0l 12,000,000& 12,000
FOIXXHE T2 2435} 12,000 12,000 0
307 QI2t0| & 12,000 12,000 0
04 CIZ2tSHALALS B = 12,000 12,000 0
OFUXXNEH T2 &E3F 12,000,000 12,000
FOIXXIME SMHAIE K& 51,000 43,000 8,000
201 et d| 43,000 43,000 0
01 AR 22l ] 3,000 3,000 0
OFOXX FTEAIYE B L SEMAS AA
1,500, 000& 23| 3,000
03 A2 HH| 40,000 40,000 0
OF0IXX EMAY Z2(8IHsE)
40,000,000 40,000
301 et ™M= 8,000 0 8,000
09 #HAIAHI XIS 2 8,000 0 8,000
OF0XX EMAY =& XA 8,000,000& 8,000
d)| HE0Is2eL: 29 196,944 194,859 2,085
o= 98,472




R PPN = RSy
Hu: AmEgs MXWE 2
Sl EOIRXIME 2 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 98,472
101 1244 dl 170,244 160,259 9,985
< 85,122
Al 85,122
04 JIZHHZ2XREES 170,244 160,259 9,985
OZJ d=its2elas 29 170,244
-2 89,1283 x5H 323 143,942
< 71,971
Al 71,971
-ANRSFIOE 89, 128 x5H 62! 2,674
< 1,337
Al 1,337
-E 2 F Ol 500,000& x5 *23| 5,000
< 2,500
Al 2,500
I =4, ¢HEE, HHEF S
500,000& x5H 2,500
< 1,250
Al 1,250
-AHEEE S 16,128,000& 16,128
= 8,064
Al 8,064
201 Let24E] 25,500 25,000 500
< 12,750
Al 12,750
01 At 22l 19,500 20,000 A 500
OARY 2YH(S2E 2XE S)
18,000, 000& 18,000
< 9,000
Al 9,000
OJIZHMZZ2X ME HE ==&
150,000 x5H 23] 1,500
< 750
Al 750
02 2324l 1,000 0 1,000
OSdldl € AIERXE2l 1,000, 000& 1,000
= 500
Al 500
03 A2 I 5,000 5,000 0
O2EXDS L SMALEZ  5,000,0008 5,000
= 2,500
Al 2,500
301 LBt M3 1,200 6,000 4,800
< 600
Al 600
09 AL HIXI &3 1,200 6,000 A 4,800
O2Y?2E 5oz 2L RSN
100,000& 12 1,200
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